Paper: B.E_B.Tech
Set Name: |Item23
Exam Date: | 26 July 2022
Exam Shift: | 1
Langauge: |Punjabi
Topic: Mathematics-Section A
Item No: 1
Question
D- 100101
Question
Type: MCQ
Question: % 38 f: R > R %39 e85 I A f (Bx) —f(x)=x J| 74 f(8)=7 I 3¢ f(14) 59=d
A: 4
B: 10
C: 11
D: 16
Topic: Mathematics-Section A
Item No: 2
Question
D- 100102
Question
Type: MCQ
Question: He 38 O He I i3 A fig z,=1+2i T 7@ B f8E z,, Re(z,) < 0T A€ OAB & AHe=t
' m@@ﬁaf‘sgﬁ%thwOBada%sﬁféWﬁ%mn%ﬁ?ﬁ%:

A: arg z,=m—tan"!3
B: ") 1 4

- arg (z4 —2z,)= —tan 3

g (z21—2z) 3

D:

|221 - 22| =5

Topic:

Mathematics-Section A




Iltem No: 3
Question ID: | 100103
Question
Type: MCQ
Hod Mt AHiaas & yast
8x+y+dz=-2
x+y+z=0
Question:
AX—3y=p

-, et it Lal 1 s = .

€ nAtfH3 &t I o5 e g | A il o 3B 8x+y+4z+2=0F g J :
A: Sﬁ
B: 4
C: %

9
D: E

3
Topic: Mathematics-Section A
Iltem No: 4
Question
D 100104
Question
Type: MCQ
Question: | H® B8 A 2x2 & Hefdam T 7 det (A)=—1 n3 det (A+]) (Adj (A)+])=4 I A ®

fesas 33T o A9 J Ao J

A: -1
B: 2
C: 1
D: _\/E
Topic: Mathematics-Section A
Iltem No: 5
Question 100105

ID:




Question

Type: MCQ
w . (a3 = - - 364

Question: ﬁaaaﬂa'qﬂ%;%anﬁwmﬂ?yﬂ,y:&x:Oan:yamsﬁu%usae*ﬁaaaﬁ—3~ J,

gI8d J;
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Iltem No: 6
Question
D: 100106
Question
Type: MCQ

60 WIT n HET & S aufedt st 2, 22, 23, . wiZ 4,42 43, . 3 fegg 9| 79 Aomft
Question: 225 n

60+n yet T mfest Hows (2) 8 I 3T ) k(n—k) sE9 T

k=1
A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Item No: 7
Question ID: 100107
Question
Type: MCQ
log. (1 — 2) + log.(1 2 -
0ge ( x # eyt log (I +2 #27) xe[ T w)_{ol
. Hod 856 f(x) = SeCY — COSX ’ 272
Question:
k , x:={)
x=03IHWITISITk ITTIW T ;

A: 1




B: -1
C: e
D: (0
Topic: Mathematics-Section A
Iltem No: 8
Question
D- 100108
Question
Type: MCQ
s £(2) {x+a , x=<0 x+1 ¢ x ¥l -
x)= = _ " ’
Question: lx —4f , x>0 "% &) (x-42+b , x20 - 9
(g0f) (2) + (fog) (—2) I9789 T :
A: - 710
B: 10
C: &
D: —8
Topic: Mathematics-Section A
Item No: 9
Question
D- 100109
Question
Type: MCQ
R x3—x2+10x—7, x <1 . y
| HEE8 f(x) = ! T | bT ST T AYY, fAR &t flv) T x=1 809
Question: —2x +logy b* —4), x>1 &
mfieBH HS J, T :
A (-6, —2)
B: 2, 6)
C: =6, =2)J (2, 6]
D: [—JE —2) U (2, \/ﬂ
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Iltem No: 10

Question ID: 100110

Question Type: | MCQ

. - L 2n 8 /1 — CosX
Question: Hog a= lim —— M3 f(X) =, x¢(0, 1 %{ ECl
n—sco kgl n? + k2 fx) 1+ cosx <01

RECORG

SRICLC

- Ay

- -t

Topic: Mathematics-Section A
Item No: 11
Question ID: | 100111
Question
Type: MCQ
Question: | 3rg Y 4+ 2y tanx = sinx, 0<x < E w3 y[ =] =033 mifoe=H oo
: Fﬁ'da I lanx = s, X EYHS’})‘B = S‘E’y(x)E"' H% o
A: l
8
B: E
4
C: l
4
D: é
8




Topic:
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Iltem No: 12
Question
ID: 100112
Question
Type: MCQ
fex fog P fen 397 v 9 & fenft (1,2) m3 ( —2,1) 3 feret g3t T T9ar & 743 14 J| Hs &8
Question: | f (x,1)=0, owhﬁmmﬁﬁx-uaaﬁew BIZewr InB y W g ffenm C, D3I deer J |
J© 93997 ACBD @ 93985 5989 9
A: 2
2
5. 317
2
c. 3417
4
D: g
Topic: Mathematics-Section A
Item No: 13
Question
D: 100113
Question
Type: MCQ
& Ugras y2=24x § 8T (o, B) 3 Tt AUSH o T 2x +2y=5F BT T | 3T TEUTETH
Question: x> y2 . e .
— - 55 =13 (a+4, p+4) 3 B fiig &9 5 Suer 3
o B
A (25, 10)
B: (20 12)
c: (30, 8)
D: (15, 13)
Topic: Mathematics-Section A

Item No:

14




Question

D- 100114
Question
Type: MCQ
Question: | T8 (1, —2,5) 3, Ju /1 (1, 2, 4) RT" St I w3 I x+y—2z=0=x—-2y+3z-5 T AH'3T J,
3 %9 O sIE J
A: E
U 2
B: 2
2
C: E
2
D: 1
Topic: Mathematics-Section A
Iltem No: 15
Question
D- 100115
Question
Type: MCQ
= — A A A i
HE 58 a=ai+j—k 3 b=2i+]-ak a>03 | 73 & x b o e
Question:
ra% M A - o
~i+2j -2k SYU30USKaTWEI I :
A: E
2
B: 8
C: _1_?{
2
D: 7
Topic: Mathematics-Section A
Item No: 16
Question 100116

ID:




Question

Type: MCQ
" g 5 g - % " 4 "
Question: | TUET ¥8 € HOHS i3 YAIS FHIT a 3 % 5 | 79 PX=1) = 7 J 3T P(X=4orb)
gIEd J
A: E
9
B: 6_4_
81
C: E
27
D: 145
243
Topic: Mathematics-Section A
Iltem No: 17
Question
D: 100117
Question
Type: MCQ
a fal - . —. 2 + 3p 2 - p -
H& %8 E,, E,, E; 35 ugmue fssawt wes=t o8 A€ P(E;) = ,P(E2)=TME’
Question:
1 - - . -~ - -~ )
P(E;) = Tp J | 7Ea p Eff niftiesH mi3 f5853H WS p, »3 p, T& 3T (p,+p,) TIET J ¢
A: E
3
B: E
3
C: E
4
D: 1

Topic:

Mathematics-Section A




Item No: 18
Question
D- 100118
Question
Type: MCQ
T - . g2sin29 200520 _ 7 w w
, He B8 S={0¢ [0,27] : 8 +8 =16} 3% n(S) + | sec [— + 28) cosec [— + 28)
Question: Py 4 4
g9E9 J
A 0
B —2
c —4
D 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119
Question Type: | MCQ
. 1 —1 /D 1
Question: tan (2tan1—+sec1—+2tan1— 999 I
5 2 8

A:
B 2
C: l

4
D: E

4
Topic: Mathematics-Section A
Item No: 20

Question ID: 100120

Question Type: | MCQ

Question: =) (M(P FEEN ~q)) A qa' ’

A fear usggast




B: & ugRug fegut
C: (P = qQ A q ¥ AH®IEA
D: (Pp=q) A p T AHaIES
Topic: Mathematics-Section B
Iltem No: 21
Question
ID: 100121
Ques.tion Numeric Answer
Type:

Had I3 p, q, r e R B, A3 ¥ foa foms a3t o8, mitaas (p2+ g?)x2—2q(p+r)x+ 2 +12=0 ¢
Question: qz +p2

H&t 9 B He Atags 12+ 2x—8=0 & ys J 3¢ P2 O JI
Topic: Mathematics-Section B
Iltem No: 22
Question ID: [100122
?ues.tion Numeric Answer

ype:
Question: | U wiat yrfgza Aftmret, far e @re foAT &t o 36 T, &t fo=st Il
Topic: Mathematics-Section B
ltem No: 23
Question | 490123
Question .
Type: Numeric Answer
Question: | 3 T T6TSHA JIE6T o &3t ANTE {3}, 16, 9, 12}, {15, 18, 21, 24, 27},. .. , feg 2fenr fomr 1 3
" | fomreR AHT fRE 33t T AT J

Topic: Mathematics-Section B
Iltem No: 24
QL{estion 100124
ID:
Question

Type:

Numeric Answer




AHIZTS xP(3—x2—x+1)+x(3x3 —4x2—2x+4)—-1=0 ¥ Jud TAIfeX U & fazst

Question:
il

Topic: Mathematics-Section B
Item No: 25
Qgestion 100125
ID:
Ques.tion Numeric Answer
Type:
Question: Had UAT (1+x)P (1-2)9, p,q=<15 RO x »S 2T I8 FHEJ -3 »3 -5 T8 32 3 &

" | IR gI=d J
Topic: Mathematics-Section B
Item No: 26
Question
D- 100126
Que§tion Numeric Answer
Type:

. By 1 1 4
Question: | Frag n(2n +1) [ (1= x")*" dx =1177 [ (1 - x")*""! dx T 3e neN =z ol
Topic: Mathematics-Section B
Iltem No: 27
Qgestion 100127
ID:
Question .
Type: Numeric Answer
Ha &8 339 y=y(x) fig (3,3) <9 Bwet I 3 fER I39 3 88, x-179 3 8T »i3 37 3 3 x(>3)
. 3
Question: | = 379 &r ¥=9ew [E) J1 7od feg @39 ufed s e g (o, 6410) o8 @ Surt U 3% o
- =
g9rad JI

Topic: Mathematics-Section B
Iltem No: 28
Qgestion 100128
ID:
Question

Type:

Numeric Answer




f3ga ABC &t ga=t AB, BC i3 CA @it AHiadst qHed 2x+y =0, x+py=15a ni3

Question: . o 1 }
x—y=3 5| W9 femer &7 Aw9 (2, 2), —5 <a<2 J 3¢ p gI=d gl

Topic: Mathematics-Section B

Item No: 29

Qgestion 100129

ID:

Question .

Type: Numeric Answer
He &8 @86 flx) =22 —log x, x> 0 we faor J (0,2) RE n3 U fIT T (a, 4) K9 | @ UTues

£ 1a] ) = lal e (2] - 0 1 ) L2
Question: y2=4ax BUT fig P 3 musH 3 fiE (8a, 8a—1) 5 Bwet I n= fig [— > 0} 39" &t Buwt
% - ¥ y

3|ﬂaHPEEH€rmﬂaaﬁ;+E—1%3€a+Ba-ﬁH ol

Topic: Mathematics-Section B

Item No: 30

Question

D: 100130

1Q_ue§tion Numeric Answer

ype:

- = FFL  wFE &1 e e - - .. ” o

Question; | OO 9 —— = Fo— = — Qe fie Q3 REE P4,2,7) 3 J26 St et 351 3T
f3g7 PQR ¥ ¥3Je% T 294 afl

Topic: Physics-Section A

Item No: 31

Question

D: 100131

Question MCQ

Type:




35 Um M=100 kg, m, =10 kg »Z m,=20 kg & 33T 9 939 v3fax feemer it ot 9
At Agret 9a13 Ifgs I, IHt 9alt »i3 & Tus Gt | fugdhit S geeitnt w3 3o Ifa3 Is feemm
8T 5% F sarfenr fanr I 3t fd m, A 2ms ™2 ¥ y=a1 5% QuT % I8 g &9 @< | F &t a3
J:

(=10 ms~2 &%)

Question:
m; =10 kg
F
—» M=100kg | |m,=20kg
A: 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question
D- 100132
Question
Type: MCQ
Question: 6 MHz 3° 10 MHz & &5 35 3516 § fan & Aers 3 e a3 7 Ager 9 | 3 UgAud 3301 saret
| & ¥ oI ot 9=t

A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Iltem No: 33
Question
D- 100133
Question MCQ

Type:




far Ifs€ ot 54& & ¥ =9 fan AN 3 4250 dis./minute I | 10 fifer smiE R & & &9 25 &

Question: | 2250 dis./minute J 7St I | ¥ Afgg v ot T :
(log,(1.88=0.274 &)
A: 0.02 min—!
B: 2.7 min 1!
C: 0.063 min —1
D: 6.3 min !
Topic: Physics-Section A
Iltem No: 34
Question
ID: 100134
Question
Type: MCQ
e AHTenizd Yae © Ud & 3391 dgrEt 900 nm 3 StE93T 100 Wm 2 31 fard yam & 7 2
Question: | #fgz Af3g Gug nmurz &i3T famrr T | Un €t &fEs fomr fS9 1 Afds 9 1 om? @ 4T & a3 e
JIH IS
A: 3x 1016
B: 4.5x 1016
C: 4.5%x 1017
D: 4.5%1020
Topic: Physics-Section A
Iltem No: 35
Question
D: 100135
Question
Type: MCQ
[a) = o L% Falal n n =~ n ] 0 (al 4 =
Question: tiar & godl 5 @& yoar <9 12 mm 1 &g »i3Ts gt U 7 At feergt § »iuedss wid 3 B
U fg Iftmr e | 3T 2f9F »isI9® mm &9 faat T Fr=ar ?
A 16
B: 0




C: 48

D: 12

Topic: Physics-Section A
Item No: 36

Question ID: 100136

Question Type: | MCQ

for mH=s famesst gadt 3941 & guat u3d fEr 397 O

tion: =t - . i
Question B=2x10"%sin(05% 10°x +1.5%x 10" j T.
3t faAmEt §39 € off »TTH J=ar |
A: 6 Vm~ ! x-0g &%
B: 3Vm~! z-ug &%
C: 6 Vm~1 z-09 &5
D: 2x10 8 Vm ! 19 &%
Topic: Physics-Section A
Item No: 37
Question
D: 100137
Question
Type: MCQ
féa s3t9u LR Adae & X =R w3 A&Et &R P, 7 | AT oEt Ued famet orga= C d § &3teu
Question: P,
S &% (78" X =X 99) &arfenr der J 3t mast gt P, 3 Afer J1 I016s B, T 92
A: l
2
1
B: —_—
J2
C: ﬁ
J2




D: 241
Topic: Physics-Section A
Item No: 38
Question
D 100138
Question
Type: MCQ
A "}) . S, y - N *’})
Question: (2: +3] Tef‘aammgas&uaaf‘eg?ﬁaa@aﬁ?a&aﬁﬁw%ﬁﬁaﬂ?w(m —4j) ms~2
3t o SAHI ot J=att 2
A: 3
B: 6
C: 12
D: 2
Topic: Physics-Section A
Item No: 39
Question
D: 100139
Question
Type: MCQ
Xn3Y 2 dsoit fiigl €8 g9mad ade 9% foar I @ Jedt 3 dudt ¥3d PR By i3 By 5&e J |
Question: | 7 I3 X T 200 H3T »13 »iIdd f@nfH 20 cm I w2 I8& Y @it 400 H3T i3 »igu fenid 20 cm
J% 3t By M3 By & ot 371 J<ar ?
A: 1 #1
B: T 52
C: 241
D: 4:1
Topic: Physics-Section A
Item No: 40
Question ID: 100140

Question Type: | MCQ




€3 J¢ Agae fSu ade 1 & W3 fams &9
4 ()
VWV
2() 4 Q)
Question: VVVYV VV VYV \/VV\/
4 () 4 ()
I M R A B
()
\_/ 40V
A 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Questi
ID‘feS 'on 1100141
Questi
T}llJpeeS: on MCQ
C,=1pF, C,=2 pF, C;=4 pF »3 C,;=3 pF § AN 137 31 & Afenr for 31 fegst aaat
Question: | €t fesAET QT % gr97 famms a9 |
( He &= 20 V &F fEq gedt feerer § saret aet 9)
A 200 pnC
B: 200 C
C: 10 w:
D: T0C
Topic: Physics-Section A
ltem No: 42
Questi
ID‘feS 'on" 1100142
Question MCQ

Type:




e JET A& IS Mds ISt &% g%eT J 31 A=t w3 feramus € @%s § fan 337 & »itsy Irdt EgATfent

Question: ~
T
A JiBTg
B: N EAAE )
C: ySteast
D: frdt srets
Topic: Physics-Section A
Iltem No: 43
Question
ID: 100143
Question
Type: MCQ
faH g% yHE € niegl 3R € 7 HET T 296 AfEd a9a 40K 3unrs sufen Aer ¥ | R 39 ®
Question: | a9 295 fdal nifzfox G897 =u Ar<aft |
( €37 T R=83JK !mol 1)
A: 5810 ]
B: 3486 ]
C: 11620 ]
D: 6972 ]
Topic: Physics-Section A
Iltem No: 44
Question
ID: 100144
Question
Type: MCQ
- = s i = = 1 s :
Quest memVﬁmwaﬂﬁawwauﬁmmﬁgwaﬂ?W%mﬁa
ueston: -
MEERT H F »isH T8 o J=ar|
A P
B: 8P
C: A2




D: 64P
Topic: Physics-Section A
Item No: 45
Question
D: 100145
Question
Type: MCQ
1 cm ¥ »iJyg fenA T8 UTEl ¥ 3 38 § 729 59799 ac Jafomt 99 3fawr Aler I | 7 uet = Afsg
Question: | 38 75 dyne/cm I< 3 Af3g Gt § ufo® TrH®= 3a AHS a9d folat @ar d=ar |
(fesr O w=3.14)
A: 85x10 4]
B: 82x1074]
C: TR ]
D: 53x107%]
Topic: Physics-Section A
Item No: 46
Question
D: 100146
Question
Type: MCQ
7o far gae g fusst @ Af3T 3° 32 km QUT femfenr A 3t feme g9 fog 98 y3tEs & oot
Question: | J=dit |
( fygst = nigu forrA =6400 km)
A: 1%
B: 3%
C: 4%
D: 0.5%
Topic: Physics-Section A
Item No: 47
Question 100147

ID:




Question

Type: MCQ
TIATET Jet U39 Haaa € Jied e € o9a & UA 250 gm 9 | § e Aufdar famer Aufdar Afeg »ix
2Nm~! &% Afanft famr T | 7 257 § 8% fomr <8 o=t 0 5% e A 3t AUfder & mifte=y
Question: | ®uret f&g fdat @ o d=ar|
250 g —00000 250 g
A 7
242
B: E
2
C: E
4
i)
D: —_—
J2
Topic: Physics-Section A
Iltem No: 48
Question
D: 100148
Question
Type: MCQ
50 kg ¥ Un T e gteg fex It # T 3 U 350 N & 3ami (T) Afo Age! J, i g3 Al 7 feg
Question: | Ufg®t 4 ms—2 T Y=a1 5% 39 w8 I fag 5 ms 2 T y=a1 5% ST o3 7w I| 3 feamu & |
(g =10 ms~?2)
A: T=700 N #< 8ug <% g3 J|
B: T=350 N 7¢ 39 =& niffer T
C: IAT ©UT O3F & 2T 7=l |
D: JAT 319 7' €8 2 Ar<dl |
Topic: Physics-Section A
Iltem No: 49




Question

D: 100149
Question
Type: MCQ
Question: HiZH &% GHET 30° i3 45° T o STTET JT € yuud fEd AN’ BY3H €9TEt 3 udse 5 | fEs Ehit
| ordfsg et T ot nizus J2aT )
A: Ta4f2
B: FA0 |
C: 2 21
D: 1 &5
Topic: Physics-Section A
Iltem No: 50
Question
ID: 100150
Question
Type: MCQ
0.5 mm TH fug @& AAfIG amw § 6.8 Achiled Set fea AHG 379 © foni A3 <3f3nr famrr | feR
_ T He Ao UFS 1.5 mm M3 JSTEd Ao ©f UFS 7 vt I | dFerd Af3T © 29 EaR AR
Question: A mE
o 3 fost g3ar |
[ Aaf9G arm & disarg Ao §UT 50 3T 78]
A 6.8 cm?
B: 3.4 cm?
C: 3.9 cm?
D: 2.4 cm?
Topic: Physics-Section B
Iltem No: 51
Question
D: 100151
Question

Type:

Numeric Answer




oty il & ufsw fomr < nirdfsa ot fearet fem 7 3 03 fom @ ua & mitemE y=>5v(1—1x) 3

Question: L. s
St urdfsd oSt ey wed Afel ___ j J<ar|
(g=10 ms™2 &%)
Topic: Physics-Section B
Item No: 52
Question
D: 100152
_CI_)ues.tion Numeric Answer
ype:
1kg YAW3 R »Ju fonrm & o fara, fEa ufsa o9 A fere AW 3 3f3 »is fere ded e sy
faar 9, o0& niAdt &% WH Aaet 9 | g 39 @Az fame Un fsra fier 9 fsAa &t niftesy Goret
3 fean it aret T | gz feemer § &5 fo3r Al I e <Az f58a3H wermer fe wiSEt T 3F feret
Question:
- x — —
ot ast 4 ~— rad s~! It 7 x=
(g=10 ms~?)
Topic: Physics-Section B
Item No: 53
Question
D: 100153
Question ,
Type: Numeric Answer
ol 1 Hieg Bt 39 T Wal IS § 7Es TTHS YUl o137 famim | 319 ©F Sgret 9 Ifenr @0 04 mm
(fr €8 £ 0.02 mm & 39T J) 7€ 39 1 kg 9 Sefens Aer J | 39 € foorA 3 0.4 mm
Question: | fHfenit famr AR €8 + 0.01 mm & 39S T | T T a&fd (AY) & fHes o8 392 ¥ x 1010 Nm 2
Ut gt I 13t xS AW T |
(=10 ms—2%< )
Topic: Physics-Section B
Item No: 54
Question
D: 100154
Question

Type:

Numeric Answer




e ffa a9 fodhua <& =uet T 37 fene o79% € nifest 100 Hz I 7 a9 fadhia § ure o &t J 3f

Question:
- . . = s X ﬂ -
hSOHzawﬁ%WﬁﬁwmemW%?w@#Emgﬁ%ﬁmx= [
Topic: Physics-Section B
Iltem No: 55
Question
D 100155
Question .
Type: Numeric Answer
& Agas AHG WIZT TT9d € nidsdl »idsdl € U<l uead frier & Hegt ¢, »3 t, I (939 usfaw)
gEfenT famm I w3 & € ug<t ue9w 3 fexa a3 & Hie Fars n@d A3 famr I | o3 & Hie =
V %3 It |
Question:
er, =3; ;=05 mm il
=Z;f,=1mm - AN
Topic: Physics-Section B
Iltem No: 56
Question
ID: 100156
Que§tion Numeric Answer
Type:
fas foz9 &g foufonr famr 3, f‘éalﬂzaaﬁﬁﬁaqﬁ%trw%a%aﬁ | fer 3T A3fes St
I, =40 cm J I& »iEAE Y39U x § P &% &3tau 3T I »i3 ASfBes saret 8 fig 3 80 cm gt
% | x o tHs Q 3
P Q
Question: _r B —|\
P=4()
1
A C
J
Iy FA
L )
E K
Topic: Physics-Section B
Iltem No: 57
Question ID: | 100157




_?;pees:tion Numeric Answer
73 frmer wifest 3 o3 92 Adae f&o ynfes ade 1 A J=r|
8 20mH 6 HF 4 ) 50mH B8
WW—— 58505 |1 WW FETE—MN
Question: — 0.5 uF = 0.5 uF
1] WW || YW\ 1 YWW
If 05uF 112 08uF 4Q 0.8 uF 20
o
ey
220V
Topic: Physics-Section B
Item No: 58
Question
D: 100158
?ues.tion Numeric Answer
ype:
T e g | " o
Us® §3% &7 € San gdl AEs TS Pl fegarg vy fufonr famr (fre sufenr 9)
URT3E Mg A St 1.5 T | 7 €8 diarg Af3at, T §dt da9 = wigy fenmA (R) U 3T R & atHg
cm T
(where p=object distance, v =image distance)
AY l(cm-l)
Al v
Question: '
1 0.08
1 0.06
1 0.04
+0.02
. B 1 1 1 1
X —0.10 —0.08 —0.06 —0.04 —0.02 1()
1 (em-1)
v
Topic: Physics-Section B
Item No: 59
Question 100159

ID:




Question ,

Type: Numeric Answer
TEETS AUSeH 39 ehs Al &t ufadt yams sits &t 3da1 Saet A I UTAgs Aty ©f Staet

Question: | yaIHs BEts w3 FTBHT AITH € ATt YaHS SEts St 3901 Sg7ehT & g9 “aN” J fal a=
T

Topic: Physics-Section B

Item No: 60

Question ID: 100160

Question Type:

Numeric Answer

Budaz feue fg39 29 diag sfes f&g ade

mA J=ar|

4k 1 Iy
Question: VW > >
I
Z
(100-120) V /—_Z V,=60 VS 10 kO
Topic: Chemistry-Section A
Item No: 61
Question ID: 100161
Question Type: | MCQ
Aet - 103 met - 1 & fies =9
get -1 get - 11
(Hare) (Regst/mest
oo, | (&) BrFs () HE I
| (® [CEF P (I) =9ar fugriss
(C) O, (I1T) f3zw o&t fugfiss
(D) PCls (IV) nis et
Jo fo3 fRamut f&g mdt €39 92 -
A (A) - (), (B) - (1), (C) - (11, (D) - (IV)




B: (A) - (IV), (B) - (II), (C) - (II), (D) - ()

c: (A) - (), (B) - (IV), (©) - (1), (D) - (1)

D: (A) - (L), (B) - (IV), (C) - (II), (D) - ()

Topic: Chemistry-Section A

Item No: 62

Question ID: 100162

_?;pees:tion MCQ
gt - In3 gt - 11 & f%s &9

Aat -1 get - II
(@A/yStafoni) €sysa)

Question: (A)  250,(g) +Os(g) = 2505(g) () Fe(s)
(B)  4NH;(g) +50,(g) — 4NO(g) +6H,0(g) (I)  Pt(s) = Rh(s)
(C) Ny(g) +3H,(g) — 2NH;(g) (II) V505
(D) <Fess 38(1) + H, — SHss ull(s) (IV) Ni(s)

A (A) - (L), (B) - (1), (C) - D), (D) - (IV)

B: (A) - (I, (B) - (1), (C) - (), (D) - (IV)

c: (A) - (IV), (B) - (I1I), (C) - (I), (D) - (1)

D: (A) - (IV), (B) - (1), (©) - (IIL), (D) - (I)

Topic: Chemistry-Section A

Item No: 63

Question 1490163

Question MCQ

Type:




J&T € oEE O3 9T O%
Questi Fgs 1:  Cl, »iz <9 Afuaddt wigu fenmr uoHE S&dts € niau fenmA &8 gareT der J |
uestion: = =
FEs 11: fossHa Hiuds 21 »au form oA feRe uaHE € wigu fenm &8 €37 g J |
Jor fo3 JEst € niag 2 a3 fSamyt feg’ A2 Ta= @39 92
A % a8 1 ni3 nEs I AJt 96
B: o5 86 [ »3 s 11 T%3 76
C: 8s [ ATt I U aEa 11 I&%3 J
D: 86 1 %3 T Ug o8s 11 Adt 9
Topic: Chemistry-Section A
Iltem No: 64

Question ID: 100164

Question Type: | MCQ

Question: AUlegs fRdh 2t gelade Ags” =0 gt 349 G usnr &t gl o9

A: uz flus g g

B: 0 Qa® vaar

C: =0 farst g&a=T

D: WHOMY &% uZ Bt use @ fuuss 3
Topic: Chemistry-Section A

ltem No: 65

Question ID: 100165

Question Type: | MCQ

Question: J5 fadntt &8 faasr H,0, vegcE d JoeT J 7

A: l__I:Ith?IT
B: STOHNEST TEE
C: SroHfea wifis

D: BIaa%




Topic:

Chemistry-Section A

Item No:

66

Question ID:

100166

Question Type: | MCQ

BeCl, & LiAlH, 5% yStafanr age féer I

(A) AICI,
(B) BeH,
Question: (C) LiH
(D) LiCl
(E) BeAlH,
Adt @ﬁﬁ J
A (A), (D) »3 (E)
B: (A), (B) 3 (D)
c (D) 73 (E)
D: (B), (O) »=3 (D)
Topic: Chemistry-Section A
Item No: 67
Question | 100167
Questi
T;pees: ion | \ica
Question: 9T & I T9E6! Haris foar Ater J ferd satfent 11 Ager I H 3 feaB<ise “X” »i3 6 featdiee
| Y e yStfafanr s%1 “X7 w3 “Y” FHIT TS|
A: B(OH), »3 NH,
B: B,H, »3 NH,
c: B,H, »3 HN,
D: NH, and B,O,




Topic: Chemistry-Section A

Item No: 68

Question ID: | 100168

Question

Type: MCQ

Question: Jor ot yStfafanr 25 faost fox nims niguss yStfafant & €erads adt 9

B: 2NO, +H,0 — HNO,+HNO,

c: MnOj + 4H* +3e~ — MnO,+2H,0

D: 3MnO3~ + 4H' — 2MnOj +MnO,+2H,0

Topic: Chemistry-Section A

Item No: 69

Question

D: 100169

Question

Type: MCQ

Question: KMnO, & 33" Jai6! 3a1 u3H J Afer J 7 niaAsx »ifis & 3mmt Hiftmi 98 nigHnus aitsT Afer
| 31 yStfafonrt &9 HasHH & g% widHtods nierer @9 Sseoe J|

A: 5

B: 1

C: v

D: 2

Topic: Chemistry-Section A

Item No: 70

Question ID: 100170

Question Type: | MCQ

Question:

(!:1+CH4 — A+B
Quaars ySifafan A w3 B I3 -




L] =,
c: CH, "3 HCl
Topic: Chemistry-Section A
Item No: 71
Question
D: 100171
Question
Type: McQ
Question: | 100 mg T p-aEiceian »3 fuafox nifis © fiRds & wige gee &t faodt fedt As3 =t 9
A: 3 TATE
B: 2-5 g2 &g fAfsar 7% o T&H
C: ASSHES
D: TLC g&8% (uss 3fu o)
Topic: Chemistry-Section A
Item No: 72
Question ID: (100172
Question
Type: MCQ
Question: | &% w3 F9HIs ySifafant e a&dean M3 uat © HitmiH 2o »isg for a9a 3
A: AgAcde ©f Mf3 AWdE
B: UHS T JISIAIE
C: HI3 JSHa® & 968
D: fedoed g yge raAcae ©
Topic: Chemistry-Section A
Item No: 73
Question ID: 100173




Question Type: | MCQ
Question: Jor o3 afgat &g fao3 mignfex st T ?
©
B: :. ;
Topic: Chemistry-Section A
Item No: 74
Question ID: 100174
Question Type: | MCQ
Js a3t yStfafonret <o Quaf Ans B 5

Question:

O

R
[AgNH)o] " OH _ ,  NaBH,

H CHO

» B




o H OH
A: - é - @
H  CH,OH H  CH,OH
H OH H OH
B: - @ - @
H CHO H CH,OH
L H OH
C: - é N @
H COOH H COOH
2 H OH
H COOH H CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question | 100175
Question

Type:

MCQ




fagzr mifsaara U6 fedint nisdos 7 e He Slarel® HastAfenH g9HETs (PhMgBr) yStfafant
a9 féer T
Question: II’h
Ph— (IZ —OH
CH;
A CH,-C=N
B: Ph—C=N
O
C: Il
CH;-C—-O-Ph
Ph—C—CHj
D: Il
O
Topic: Chemistry-Section A
Item No: 76
Question ID: 100176

Question Type: | MCQ

J5 ot yStfafanr faost vy 8m 9 -
OCH,
Question: 02N
(i) Na/liq.NH,
>
(ii) CHyCH,OH
OCH,
H
A:

O,N




OCH,
H
B:
H,N

OH
C: OZN

OCH,

H
D: 02N
Topic: Chemistry-Section A
Item No: 77
Questi
Dot 1100177
Questi
g ;pe:: ion MCQ
Jor fe3 sEtmfenH =T ¥ AfggsT & AG gH J ¢
*N,Cl~ N, Cl~ N, Cl~
N3 Cl™
Question:
(A) (B) (©) (D)
OCH; NO, CN

A (A) > (B) > (C) > (D)
B: (A)>(©) > (D) > (B)




C: (©) > (A) > (D) > (B)
D: (© > (D) > (B) > (A)
Topic: Chemistry-Section A

Item No: 78

Question ID: | 100178

Question

Type: MCQ

Question: | AZfI Wi w3 Ut nEs doEtew YSifafan faazr Ia fednr Searne ga8e 76 |
A: U&5SHR 329d<

B: HEE

C: faesHa Zead<

D: % n{rfé?ﬂ' %azﬁzr
Topic: Chemistry-Section A

Item No: 79

Question ID: 100179

Question Type: | MCQ

Question:

Js fe3 faost fea swaddt Feg 7 2

Yl
H-C—OH
HO—(l.'—H @)
H-COH
H-C——

|
H




HOCH H
2.0
B: H H
H OCHj
OH OH
H H CH,OH
HOH,C 0 0 9
c: H H 0O H H
H H
OH OH HO OH
OCHj
H OCHj
H OH
D: HO H
H OH
H OH
CH,OH
Topic: Chemistry-Section A
Iltem No: 80
Question 1 400180
Questi
T;pees: on MCQ
Jor € g5 fe3 ar 7% fea § fez ams (A) 3 1 § 396 386 (R) wifas aisT famr T
fez sms (A):  yuidt yStiafonr CHLCL &t #idtdts o fsardl AICL 5% o »3 p HiEels »otdls
_ &at fee T5|
Question:
a6 86 (R) : — NH, dou nisls & defafonis g= der 3 faBfa AlCL, &% Bz oe 9o
m-HEE% wess Sur Uer a9er J|
Budes FEET © niarg o3 feamut feg Sa=t 839 92
A 6 (A) 3 (R) At T& 3 (R) (A) & At fenrftmit T




B: @6 (A) 3 (R) AT I5 U3 (R), (A) & At fenrfimit &t T
c: (A) ARt T uT (R) I3 |
D: (A) a%3 J uT (R) AT T |
Topic: Chemistry-Section B
Item No: 81
Question
D: 100181
Question ,
Type: Numeric Answer
UTH 98 g9 Uf3nr 3 foraafhs a8dfes & uet feg we & 2 Luis fREt mg Mg ©F FwesT 48 ppm
I U 9 uang & fomst xx 1020 J| x T HS JI
Question: Lo - L. -
(B39 338 ygs nia 3 f&4)
(fe3r : g 379 Mg & 24g mol ! rH/HS T ; N, =6.02 X102 mol ~ 1)
Topic: Chemistry-Section B
Item No: 82
Question
D 100182
Que§ti0n Numeric Answer
Type:
Tami 2.2 bar SUT TEIEHS W3 niHs ©F HEEGS 40% TEtEs 379 HSfaa | TEiEns ©F niffid
Question: | ®&™mi _ bar J|
(839 338 yds nid 37 f)
Topic: Chemistry-Section B
Item No: 83
Question
D: 100183
1Q_ue§tion Numeric Answer
ype:
f&x fedaes »i3 fea o8 & 3Ja1 Saret soag It H fedders f <91 f68cs % x q&T d< | x ="
H afl
Question: B e s 6 s -
(837 338 yIs wid 3 f&y)
(fe&ags = 379 9.1x 1073 kg T n= f582s & 79 1.6 X 10~ % kg J)
Topic: Chemistry-Section B




Item No: 84
Question
D: 100184
_?ues.tion Numeric Answer
ype:
24 IrH Aew g8 IBI Hiea 88 70 wiariAs fR8 298 K 3 1 atm T 3 AgfenT AT J|
IGItHieT T 3UHE 298 K 3 2uar 300 K T Afer U1 ofes & gve of naesdt ges= —x k] mol —!
Question: | * THE _____ JI
(839 338 yds rid 3 fon)
(f&z7 : 3u AHET, g9 asdt Hieg & 20.0 k] K13 afes Ao o996 T)
Topic: Chemistry-Section B
Item No: 85
Question
D- 100185
_I(?ues.tion Numeric Answer
ype:
AT 800 mL 0.5 M &Etfea wifis foa Stag &9 g &7 fomr fomer wifess e & wior 3fg famr vz
11.5¢ aeifex wifAs €587 J1 =l 59 aelfca nifHs us & A®d3T xx 1072 M J1x T HS
Question: | JI
(83T 338 ygs mid 34 foy)
(niEst 379 aEtfed s 63 g mol ~13)
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100186
Question .
Type: Numeric Answer
208 K 3uHs Sug yStfafanr e A3fss Afag wiar 2x 1012 3
Cu(s) +2Ag ™ (aq) = Cu?*(aq) +2Ag(s)
yStafan =7 A3f®3 Afgg »vid
Question:
! i gy Ay e LG Ag™ -8 3 I 3
o ou (aq) 8(5)1—5 u(s) + Ag'(aq) xx10 | x& WS Tl
(837 338 ugs »ix 37 fo)
Topic: Chemistry-Section B

Iltem No:

87




Question ID: | 100187
?ues.tion Numeric Answer

ype:

Fe,0, 3 1 mol »ifess yus &t H3TT I <98 < gdier J |
Question:
(B39 338 yIs nix 3 o)

Topic: Chemistry-Section B
Item No: 88
duestion 1 409183
_Crlue§tion Numeric Answer

ype:
Quest yStfafonT &8t A — 2B+C »@du »iig 100 s %3 50 s 7€ miSagHa A 8 AwzEsT 0.5 »3 1.0 mol

uestion: - = @ g g .

L1 gpeg T | ySifafaonr & o2t J (B39 338 ygs nia 37 o)

Topic: Chemistry-Section B
Item No: 89
Ql.festion 100189
ID:
?ues.tion Numeric Answer

ype:
Question: | [Co(H,0),]Cl, »3 [Cr(H,0)]CL, ¥ fige fifus gge HHe ¥ v&t & nisa Ji
Topic: Chemistry-Section B
Item No: 90
Question
D: 100190
Question ,
Type: Numeric Answer
Question: | T T YaH & Agedt 9 Bais, Cl, 5% ySifafant aaa Gua X féet 91X ffg aeignst & faest

3l




